T

106 # 1011 %3 -4 L +-001

R R

S

difz

R i g S % R
PR ESAARE # %% a € |B L (COS89)
/lii;__“:,vl"%e‘ﬁi“—'_'%'—‘?__
£ E e L INE LR R - | GPS TWD97|X:273465 Y: 2550724
’ i &R
2R EREE R #
T B i E
106 & 10 * 15 p 05 p% 00 A

THAER ,
WL KRR S
Tk p oy 106 # 10 * 16 p
N B3 (L) SRR
eV #
~FEp #
F > ¥ %
nEREE &
B &

R E

106 & £ 75 3% E o b

-206




RHH R

5 o 8 55 B 8 o R

\ A
( Ll L L S — °
3 LA AL 2 'b

i %
oo.ﬂ"‘"

-207




ZCRREfERFTR Y

R i Ere ok

X

X 273465
Y 2550724

AR

LE 25 R A B 3530 X2 F A PR R A 25 0 3

I s

WER G @B RS

| X : 273465
Y : 2550724

3R R

()

PR 0

X 273465
Y © 2550724

G4 45 R

| Xt 273465
% Y 2550724

S =4 180 B
X : 273465
Y : 2550724

S

R B AR T B R B B SR

S =4 170 B

X 1273465
Y © 2550724

-208




r o LHRBRRTH

ROGHE B TR F RS Ry B
4 o 135°
=~ BB AR 457m
f“ =
2 Hu 3 A 357m
EERESS 45°
3

0 500 1,000
N e Vleters

fil 1]

— T ARERZR
[ M3 3
—pSi

* K=fE

N AR TS BRI T B (O L SRS LD
2

a2

E-

N W)
?;_.;),J_r_i,_.‘.,'.

HER  BTR
LR

R MBS % R

RS BRE

REME

-209




#
n 1 2 3 4 5 6 7 8 9 10 11 12 | #&
2016 | 132.0 | 18.0 | 79.5 | 87.5 | 131.5 | 88.0 | 444.0 | 306.5 |1045.5| 928.5 | 155.0 | 30.0 3446
=] 132 18 80 88| 132 88|  444| 307| 1046 929| 155 300 3446
()RR RE S (R (XK F
1200
5
£ 1000
=
Bt y
L 2
¥ . 800
£ b=
= "#
~ & 600
£
=
g & 400
= p
. 3
. ~—
£ 200
sk
0
v

Bl 8
i#xk ¥ | COS89
X:267936 Y:2548667 (TWD97)
FARR Y & F kA

-210



I ~TEFRBA G
FiiTPER 106 & 10 % 15 B it A B34
P AT EL IR B A RB B AT | A AL ERACEF L P e D P TR
it AP
. Rt X F YR TRERED AR PE G AR FRE
B LT AN R
PR dw i A 2. fi-f;«%mi: H3% G A9 20000 T ¢ 2% S MFIER LA 0 BR
40 =% 5 £ R 250 2% o FEE 10000 oo ' oo
3. XA ‘fu;L FRCRp)E 2 F)m ) 40 2 2 o
N5 ]
€ #F" 2}—#?}:%/’ -‘i/!?,-',
ot 55 %
A = 3
CEEER s o |agdod |25 04 |SEEFOW g | 40m
&)\-E'EIJ}F N
L 1 ARK IR -
W B R At ER 7L
B3N 2B R A (e T aar)
TR s |4 L4 -001 GPS & {£]X:273465 Y: 2550724(TWD97)
#3548 4 O geafat 3 [ g WP f L g a3 [DReg #36 [J- Sl 8%
P Oatzy Ouex Wrer  OkTkky
EEER S Ors # O8fpg Op-x O
g H R O<158 O<30 0304575 W45-60 2  O60-758  O>75 R
M A 5 | R O] ES
R R E U T Gl WO R )
b4 BR A o% % oT e oFER ode
B3 LR £ B 19200m A |9 100m |% A& HIE [905m  [MEmG A |9 2,000 m?
FrHEEFE O##% Oxfgr HWerr Ofw
¥R D B TINRT e Om Er¥ R T EE B R KTEER Om
AR FREA Onkgy W24 Ocsgs Oy Ofw

-211




LS Tk
150 730
= - o4 675
_— eo® 600 )
= 100 s o
E & — -
53 E I(OI/{IZDI 50515110‘ /;:5’\ Iﬁn?;hi) g
i 3
L
)
12 13 13 14 14 15 15
H H H H H 3] H
18 06 18 06 18 06 18
2 E 1 2 1 3 2
%A b BA(COS89) 4 minEARRE &
AV A AP 10 * 13 p 8 p%
AT ER SRR 10 % 15 p 16 B
VI 1 ]:'E 56 hr
AR AR 680 mm [ &4+ #inp L% i ma EFR]
Y| h=via 5% A 5 R (mm/h) 12.14(mm/h)
B | AE R Bk 'E & 53 B (mm/h) 65(mm/h)
£ % 2 prulE A 5 & (mm/h) S(mmv/h)
RE ARG R A E(mm) 105 mm
X F w2 LR R £ (mm) 150 mm
A | 2T ¥ B HEEAE(m) £1 5,900(m)
% £ =k % 42(m) 238(m)
- [BEC) 0C )
By me) ) 225(° )
FHKR: TERBREELR k2 RELL Ty LBR 0, #F

-212




EILEL LIS EEL a2
FRiEE AT R T HFAFER AFE S E W 105Smm o R E L P H
PR oA ;iP\f; BEAKREV RS I RESTARE 0 Rk
BRI
BOEE ARG EERAT AT R E B RS 0 R E R
KETHFF | ElE -k T A RRAAERM AT B F AR IFE
R e A7
ER NI RN 3
ﬁ@ﬁariaﬁ%?ﬂ%wﬁm&#’ FEREERTEES S
TN R Y LR A g T A j\zéiiég PR p P ERFLE
%$W%’ai§ﬂz@<$ PEEAARL
g FlEg e 73 REEE OB G 2R RE 4D 6;:%&1 BEE g
ﬂatp ﬁoéﬁwﬁﬁﬁ%%@«ﬂmﬁé’ﬂﬁmﬂm%$f%’?&ﬁ“%i
2 B
Pﬂbt— %Z\‘gf—/ﬁ“-;f;—l‘.’k’?# Kk]l{‘éﬁ(“?%ﬁi—i?;;‘}i°
AN %9)‘; I B3R ¥ FP
FFL.JF 1 4% AR 1 gb;ﬁ“#\J— o
wopfay | TF A ARRAIER

-213






